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A Given functional relation be fix) + T|' ﬁ | =14+x 7% e R-1{0,1), then the value of {(2) is.
] 7
(1) 3 (2) 1 (3} 0 (4) None of these
Ans. (1)
Soli. 7 Ye=ioritd)=g | [ (1
x=%_>f—1|+r{2)=g (2)
1= 1] -0 3
e (o i\_2_] =0 (3)
&
i3 —— (3) =H{2)-1-1} = SO (4]
9 9
1 4 2(2) = = fi2) = =
(1) + {4) = 2i(2) 5 = f(2) 2
2. If y = x* then value of y"(2) — 2y'(2) is
(1) 2—4 (In2)2 {214 (In2E -2 (3} (In2)2 -4 (4) 4{In2)2 + 2
Ans. (2)
Sol. y=x*
ny=xinx
= A=1+fnx
¥
Yy =y(1+inx) PR o]

¥y =x(1+nx
atx=2wehavey=4
Soy (@) =41 +n2) i (2)

andy" =y'(1+/mx)+ J:
¥y 2=y (1+n2)+2
Y (2)-¥(@) =¥yimd) +2

y'(2)-2y'(2) ={in2-1)y'(2)+2
=4(n2-1)(In2+1)+2

=4 (fn22-2
. ” , s [
3. If the term independent of x (coefficient of 1) in the expansion of | x? + —5 | is 7315 then the value of
\ x )
et Is-
(1) 2 2) 1 (3) 6 (4)5
Ans.  (2)
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Ca¥( 2 ‘:22 '
Sol. T = ZC.—|1x3 |
R )
L% J
= "C.a o
forx®=r=4
coefficient of ¥° = 22C,.u* = 7315

22.21.2019 4
= ——q

430 =7315
= (117 :<5><19}1’14 =T315
—a*=1
=lal=1
4, The number of integral solution of equation x +y+z=21 wherex=1,y=3.z =5
(1) 14C» {2) 14Cs (3) 1C2 (4) None of these

Ans.  (3)
Sol. x>1,y=3z>5=x-1>0y-3=0,z-520
letx—1=Xy-3=Y,z2-5=2
Sox+y+z=21
XK+1+¥+3+Z2+5=21
R+¥+2=12 X=20,¥=202=0
Ma. of integral solution = ¥-3-1Cz = “Cz

a0 2 b ¥
5. The value of ZM i

n-1 (2n)!
(1)3e+ = -4 @ e+ -4 (B)3e+2 +4 @e+—- -4
2e 2e e 2e
Ans. (1)
= 2n° « 2n+4)
Sol. ;T
1 2n(2n—1)+6n+8
=EZ‘ on!
s el
T2&|@n-2) @n-1)l 2y
+va~' | =1 {e+a! H
=1|‘e e i43|[e L LR
2|, 2 2 ) L2 )
1, .
=El69|39 8
=39ri—4
2e

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Mear City Mall, Jhalawar Road, Kota (Raj.) - 324005
Ph. No.; +91-744-2777777, 2777700 | FAX No. : +91-022-39167222
To Know more : sms RESO at56677 | Website : www.resonance.ac.in | E-mail : contacti@resonance.ac.in | CIN : UBD302RJ2007PLLOZ4025
Toll Free : 1800 258 5555 [=] 7340010333 n'yr.ru:- caryHmerarceld uwr'nrl::mu:w:wtlm Ew\u VOB COMrmOwEn D“V; resnE 2 P

This solution was download from Resonance JEE (MAIN) 2023 Solution:partal PAGE#2

~
B2SO0S0CE" | JEE MAIN-2023 | DATE : 01-02-2023 (SHIFT-2) | PAPER-1 | MEMORY BASED | MATHEMATICS

Resonance Eduventures Limited | Toll-Free 1800-2




22:52 © d . R W acl @51%

{3 @ resonance.ac.infansv + (4

Resonance"
Pt mutiv g o mlinr v

| JEE MAIN-Z0Z3 | DATE : 01-02-2023 (SHIFT-2) | PAPER-1 | MEMORY BASED | MATHEMATICS

6. If a matrix A = — P “3 | then
2lv3 1|
(1) A0 — A5 - | — A (2) A% = A5 (3) A — A2 A —] (4) A30 — AZ5— 21 — A
Ans. (1)
1 =3 3
e —— ¢ e o]
CE W T i L (1)
N3 1 sinB0®  cosB0° |
D 2 |
A AP =Afla+p)
So by above.
[ ﬁ\ . g T \
o+ | cos30 = —snnBD»-]
A | D!3l [3 J
| i -
34 a‘nso['l | casaof'—T]
L L3/ V3
e 1
0 1]
P :cosZS[E] -sin25':'1, J _.‘.@.‘
Aasg_ruf! .3 ) s I o 2
| | ; = -
3) stE[f [ cosz5[— | PER. | ‘
! .3 L2 2 |
A — A= [ — A
i i Lf1=x) Aftr=%21) e
7. The solution set of equation  2tan |--— |=cos for0=x<1is'S then
W1+ ) _1.x?_J
(1) Number of elements in S which are smaller than 4 is 1
{2) Number of elements in S which are greater than t is 1
{3) Number of elements in S which are smaller than - g is1
{4) Number of elements in S which are greater than 1is 1
Ans. (1)

Sol. Put x = tanB o e ':(Il.jl
- )

21an'1'f1' tane'l_ _1:'1—tan2(:1‘|

L1+ tano ) [1+tan®8)
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The sum of absolute maximum and absolute minimum value of function f(x) = [} — 5% + 6] — 3x + 2in




22:52 © d . R W acl @51%

{3 @ resonance.ac.infansv + (4

-
\22S00B80CE" | jeE MAIN-2023 | DATE : 01-02-2023 (SHIFT-2) | PAPER-1 | MEMORY BASED | MATHEMATICS

8. The sum of absolute maximum and absolute minimum value of function f(x) = [¥* - 5x + 6/ - 3x + 2in
interval [-1, 3]s
Ans. (24)

2 —Bx+B8-3x+2 | Xl 2uEx)

Sol. flx) = -
|—(x2—5x—5}—3x-.~2 . xe[29]
x*=8x+8 , Xe(-um 2)u[3x)

= fix) = 4
| —=x®+2x—4 , wxel273]

(0.8)

absolute maximum = |f(—1] = |[_1‘;3 -8(—1)+8| =17

absolute minimum = [{(3) |[= 7
sum=17+7 =24

9. Three different Arithmetic progression have first term 2, 3, 7, and common differences 3, 4, 5 respectively
if the last terms of sequences are 359, 239 and 197 respectively then the sum of all common terms of
the three progression is.

Ana.  (321)

Sol. Si1={2581114 __ ,358}
Se={3 711,35, 238}
Sa={7 12 ee n e 197}
common AP

S ={47,107,167}

Hence sum of common AP = 321
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10. Q=X cX2eX3< i, < x7 are in arithmetic progression with common difference d. if the
standard deviation of the seven terms is 4 and X is the mean then the value of X + xsis
Ans.  (34)
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10, [ s TR T Lo < x7 are in arithmetic progression with comman difference d. If the
standard deviation of the seven terms is 4 and X is the mean then the value of X + xgis
Ans.  (34)
-
% a4 6d]
sol. Mean= R:—t‘?—:-z?— =a+3d=2xy
Dl -%)° pUCES AL
Vari < =42:!_1 =16
ariance - (4} -
| (3d)® +(2d)® +.d® + 0+ d® + (2d)° + (3d)* _ 16
7
=4d° =16 == d=2
=X =9+3(2}=15
&x=a+5d=9+5(2)=19= X+ x=34
11. Which of the following is tautology
(1} p—(=pag) 2lp—ipval Blp—(~pva) @p—s(-pa-a

Ans. (2)
Sol. Ap—=(~patl=-puvi~pag) =T
Bip - (pval=~pvipva)=(-pvp) v q
=Tw q
=tv g
Clp—=i(~pval=~pvi~pva)=t{forp=T.q=F)
Dp—=>(~prgl=~pvi~pr~g)=t(forp=T)

12, The area bounded by curves xy <8 y<x®andy =1is
(1) 4in2 —111- (2) 4In2 + _2_9 (3} 8ln4 L (4) 8in4 — -29«
3 2 3 3
Ans. (3)
Sol. A- j[ﬁ—ﬁ dt
Y )

Fra Tt

= l8iny-X—| g nd—int)= 2 (4224
ny 372 ), (Ind —Int) 3{ )
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16 2 14
=8in4d —— += =8BInd —— Ans.C
3 3 3
wid,
13. The value of [J—dx is
__-_42-0052){
:2 KE ](2 s
(1) @) = (3) (4] =
6\"’5 12 3\"’5 1243
Ans. (1)
oy
sol. I= [—F—dx .1
2 2~ cos2x
replacing x by — x
n
wid g
4
= [= e, - ATV |
LE-- cos2x @
Sp
M@= 2= J'—de
1__42—-::05‘.2)(
x e
" 47 1 2_cos2x
-l
Jnogp & x P x|
4’712 cos2x 2 ! 1—tan® x
1+ tan? x
" ey
==, Lettanx =1
2 ’ 1—3tan? x
P sec?x dx = dt
4 nl dt
='n z
2n1|31
T 1 : i b3 = =)
= X —lan'V3t) = —Z=ltan"'V3 - tan""0)
2 \'{E ; 2\-'-3(
2
= "=
Bv3
14. For some value of «, [} system of equations
aX +y+z=1
X+ny+z=1
X+ Yy + a2z = [ has infinitely many solutions, then -
Ma=1p=1 (Doa=1p=-1
Bja=-1,p=-1 Ha=—1f=1

Resonance Eduventures Ltd.

Reg. Office & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Ral.) - 324005
Ph, No.: +91-744-2777777, 2777700 | FAX No, : +91-022-39167222
To Know more ; sms RESO at 56677 | Website ; www.resonance.zc.in | E-mail : contacti@resonance.ac.in | CIN ; UBD302ZRJZ007PLCOZ4023
Toll Fres : 1800 258 5555 [5 73400103838 Ff soetoor comimerarcatts [ rwtter conmoscrmrcetn, [ s i comrmoansn - [ og resomoron ac 0

This solution was download from Resonance JEE (MAIN) 2023 Solution: portal PAGE # 6

\ E?—E:E'DEDEE | JEE MAIN-2023 | DATE : 01-02-2023 (SHIFT-2) | PAPER-1 | MEMORY BASED | MATHEMATICS

Ans. (1)




22:52 © d . R W acl @51%

{3 @ resonance.ac.infansv + (4

[SSONS0CE" | JEE MAIN-2023 | DATE : 01-02-2023 (SHIFT-2) | PAPER-1 | MEMORY BASED | MATHEMATICS
Ans. (1)
o 1 1
Sol. 1T o 1| ==Y —(e-T+(0-a)=a®=3u+2=(u-1)(c?+n-2)
1 1
(=1 (e—=1) {ee+2)
for w =1 system of equations is
X+y+2=1
X+y+2z=1
X+y+zZ=pf=p=1

15. If (0. yo) is & point on curve 3x? — 4y = 36 which is nearest to line 3x +2y = 1 then the value of J5|><_. = y.\_|
is
Ans. (9)

Sol. equation of tangent at (xo. yo) is T =0
= 3 xxo— 4yyo = —36
it should be parallel to 3x + 2y = 1

> Rp=— 2
e 2 ¥o

"+ (% yo) lies on curve = 3x7 - dy; =36

= 3(-2y, F -4y =36

L B
> Y= 2 0—_-‘{5
=X, -73/2
y (oo AR
Point = | 3v2,—2 |or [ -2/ 2—=
\ \E b \'E|

9

g 3]
e b

186. How many six digit numbers are formed by digits 4, 5 and 9 which are divisible by & is.

Ans. (81)

Sol.  Unit digit must be 4 since number should be divisible by 2.
Four out of remaining five places, each has 3 options and remaining one place will have only one option
so total number of six digit numbers = 3.3.3.3.1 =81
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17.  Avector (F) satisfy 7 «xa=c«dand Fb =0
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17. A vector (F) satisfy ¥ «a=c«aand Fh=0
Where a= J—K

b=2i-j+k
c=3i+k
then value of |r | is
5 5 33 5/a
1) 2 2) = 3) 22 4 22
(1) - ( 1{3 (3) 5 (4} 5
Ans. (4)
Sol. Fxa=Cxa

= {f-¢c)xa=0

= (f ¢j=sa

= f=C+hid

= rh-cb+iab

= 0 = (B+1)+A(2-1+1)

SRS
2

S
Hence r=c-—a

ra

~i i) i3 R)

1 [ F= BHia
=—i-—j-=k
2'Tal
.. 1 48 25 s5/3
STyt =
Y4 4 a4 2
18. Two unbiased dice are thrown simultanecusly, A is the event such that the number on the first die is less

than second die. B is the event such that number on the first die is even and number on the second die
is odd. C is the event such that first die shows odd number and second die shows even number then

(1) nl{AUB}~C)=8 (2) A and B are mutually exclusive events
(3) A & B independent event 4) n(A)=18, n[B)=6, n(C)=6
Ans. (1)
Sol. All<ll) B (ED) C(OE)
n(A) =15 n(e) = 9 n(C) =8
n(AB)=3 nlAmC)=6 n (BnC)=0
n(A~B~C)=0

(A B)~C)=n(AnC)+n BAC)-n(A~B~C)=6
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2 2
19. If dy = x}_?.yq . salisfies y (1) = 0. then

X’ Ixt+y
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2 2
19. B _X 3 cosfies y (1) = 0. then
dx 3)(2 +y*©
2 - ¥
1) S =% - (2) = nix +1
(%~ (x w
2x* )
(3) =X -yl + (4)
(x-y)* il X (x
Ans. (1)
Sol. ﬂ L Sy ts a homogeneous equation
dx 3x? +y
Puty =vx= gy =¥+ \<2
dx dx
dv  143v°
= V+ X —=
dx B4y
= 32+V 3 dv=9-
1+ -3v-v x
34v? dx
- [
Vi av? 3y 41 X
= ‘[ 3 }-Va o H
[1 \') X
e
[1-v :1 Ve (d—vp x
2
=== = = X+ fne
i - v} v
= —Irx— y1——- L= nc
v o(x-y)?
Sincey (1) =0
= fnc=0
Xz X
Hence — —in|x—y +
) S
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